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1 [BE]
o =44 566°

p=45827°
atp = 90.393°

2. L ES S E

sinfa)=0.7017
cos(a)=07124
sin(f)=07172
cos(P)=0.6968
sin{{a+P)) = 1.0000
3. [ EEREE ]
sinfa}cos() = 0.4890
sin{fjcos(a)=0.5110

I\ ~

sin (e + B) = sin & cos B+ cosasin B
by EEE
B

AR D

sin(a+RB))|sin¢a )-cos(B)|sin(B )cos(a )

1.0000 0.4890

0.5710
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. [2E]
/ AFF = 90°
n=30.129°
B =42.202°
wtp = 72.332°

2. [I=EAHdE]
sin(p) = 0.6717
sinfe) = 0.5020
cos(oy = 0.8649
cos(p) = 0.7408
sl = 09523
cos(oHp) = 0.3035

3. |EECREE

si(B)-cos(o) = 0.5810
cos(P)sin(m) = 0.3718

sin

=

o+ f)=sinacos f+cosasin B

ccs(aJrﬁ) =cosacos f—sinasin §

cos{)cos(f) = 06407
sinfe))-sin(f) = 0.3372

sinfo+p) | singBy-cos(a) | cos(R-sino)

09528 055810 03718

cos(o+B) | cos(od-cos(R) | sinfa)-sing3)

0.3035 06407 03372
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sl=Ne] - 7]

2t A E

1 IBE]

on=43685°
p=23032°

2 IEEE
tan(e) = 0.9551
tan(p) = 0.4251
secio) = 13328
secio)tan(f) = 0.5879
tan(o)tan(f) = 0.4060

3.
tan(ot+p) = 2.3238
tan{g)Han(p)
1-tanoy tanif)

=2.3238

tana+) 1-tan{a)-tan(p)

tan{a)+an(p)

2.3238 2.3238

4. I

an(aerﬁ):

tan o +tan S
l1-tan e tan B

by SEE

[:sec cr:] [:tan }5’:] [:sin cr:]

D EHEh =(tana) (tag 8)

[:sec cr:] [:tan ﬁ:] [:cos Cr:]

o(atan(B) tan 8

w
1]

E H[FEE]

secim tan(e)
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